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1 NI 2 | BR 4336 1 TRIB B3 | 4 | #EE7S 4335%
2 wors & 2| )iz 45326/ 2 WE BRE | 4 | BR 3156%
3 #wAR HE 2| B 43300 3 KEF & 4 | FE 4531 0™
4 ERAN R | 3 | HEAH 43528 4 KE E 4 | #R 4306
5 RO W&HD | 3 | HEARH 4531 3% 5 B= A8 4 | lE DNS
6 EN N1 3 | 2R 4300 6|3 Bl EX 4 | i 43518
7 = OFTF 3| #T 4323%W 7 S5 BE 4 | iz 3055
8 ANE OBEDE | 3| I 4334 8 e 4 | #IT DNS
mo st 3 | Bl A1 7TH 9 AHZR BE 4 | #I 43358
o WIR | 3 | IRED 52503 10 Bl % 4 | #T 37345%
NR BE 3| IREP 57303 11 =i =S 4 | BES 45048
A E=x 3| IRE 4359M 1 RIME %2 5| #BR 43118
BACES 3 BR 43550 2 s = 5| B8R DNS
1 2R BX 4| BR 3055% 3 RO K70 5 | thsa7S 43028
2 R 218 4 | BR 37345 4 XH B70 5 | HgE7S 4709%
3 P =8 4| BR 4306 5 ik R 5 | thsars 37341%
4 TFE HE 4 | BR 37355%W 6 4 1B T8 5| JE 3344
5 AR KH 4| BR 4330 7 KE DB 5| #I 3751%
6 HIMR Bl 4 | BR 47318 8 A B 5| #I DNS
7 BB BN 4| BR 3055% 9 J\K BZXE | 5| #I 31359%
8 B Es 4 | hERTS 4732671 10 BAR I8 6 | MR 3D41™
9 e 4 | 2R 3041% 11 f@#t  Thed 6 | BE 37336%
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7 R B% 2 BR 47359
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1 RNE FE 1 BIR 50558%
2 AG FAZE 1 BIR 6002
3 =] 1 BIR 50555
4 NB =R 1 BIR DNS
5 B SE 2 ®R DNS
6 o b= 2 &R 5733%
7 G Bk 2 BER) 63 19%
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